MEETING 6 - NOTES

CASH AND RECEIVABLES
Cash -- coin, currency, bank deposits, and negotiable instruments such as money orders, cheques, and bank drafts.

Cash designated for some specific use (other than current obligations) is segregated.  If it will be disbursed within a year (or operating cycle, if this is greater) it is a current asset.  Otherwise it is a noncurrent asset.

Legally restricted balances (compensating balance at a bank) also are segregated.

Bank overdrafts are liabilities and must be reported as such unless the firm has a ‘right of offset’ arrangement with the bank.

Cash control is important.  

- bank reconciliations should be done on receipt of the bank statement

     - two methods


1.  Bank to books:






Bank balance (per statement)



+/- reconciling items






= Bank general ledger account


2.  Bank and book balances to corrected balance 


Bank balance


G/L balance


+/- items not included

+/- items on bank


    on bank statement

statement not recorded






on G/L, e.g., bank charges


= correct balance

= correct balance

- an imprest petty cash system should be used

To set up the imprest account:


Dr. Petty Cash

500





Cr. Cash  

500

During the month the custodian reimbursed several employees for small expenses as follows:

Office supplies



  32.00

Charge for registered letter


    7.00

Lunch with client

           

125.00

Taxi fare - employee worked late

  23.00

Coffee supplies



  48.00

Reimburse truck driver for repairs           
  28.00

Gift for retiring employee
           

165.00
Total of the receipts for payments made       
428.00

There should be 72.00 in cash (500-428).  The total of the cash and the receipts is equal to the imprest amount of $500.

To replenish account (The expenses are recorded only when the petty cash fund is replenished.):


Dr.       Office supplies expense
32


Postage expense

  7


Entertainment expense         125


Miscellaneous expense          236


Repair expense - truck           28



Cr. Cash


428

The only time further entries will be made to the petty cash account is if the amount of the fund is increase or decreased.  For example, if the custodian requested cheques every few days, the amount would be increased.  The entry to increase the fund is:

Dr. 
Petty Cash


Cr. 
Cash

If the balance of the fund was found to be too high, the amount would be reduced by depositing some of the cash in the bank:

Dr. 
Cash


Cr. 
Petty Cash

- electronic funds transfer (instant and safer than other methods)

- general bank accounts and (for night time deposits) lockbox accounts

Cash and cash equivalents (see Kieso, Exhibit 7-2, page 328)
- cash equivalents are short-term, highly liquid investments

Accounts Receivable

- consider allowances, trade and cash discounts.

Accounting for bad debts:

Estimating bad debts expense
When a company allows credit terms, it must use the allowance method to recognize bad debts expense.

The adjusting entry to record estimated bad debts expense is:


Dr.  Bad debts expense



Cr.  Allowance for doubtful accounts

Allowance for doubtful accounts is a contra-account -- a contra account is an account that reduces the presented amount of an asset, liability, or equity without reducing the actual amount in the asset, liability or equity account.  

For example, the balance sheet (or notes to financial statements) present the reader with the amount of accounts receivable, as well as the estimated cash value (net realizable value):

Accounts receivable




XXXXXX

Less:  Allowance for doubtful accounts


    XXXX
Net realizable value (estimated future cash flow)
XXXXXX

Estimating Bad Debts Expense.  There are two methods of estimating bad debts expense.

1.  The Balance Sheet Method.  Accounts receivable is reviewed to determine the likely amount of uncollectible accounts.

2.  The Income Statement Method.  An estimated percent of sales is used to estimate the amount of uncollectible accounts.

Write-Offs.  When a particular account is determined to be uncollectible, it is written off.  The entry is:


Dr.  Allowance for doubtful accounts



Cr.  Accounts receivable (control account and sub ledger account)

When a company normally does not sell on credit terms (e.g., McDonald’s), it may use the direct method to recognize bad debts expense.  If, on occasion, it does sell on credit terms, and the particular customer defaults, it simply writes-off the account.  The entry is:


Dr.  Bad debts expense



Cr.  Account receivable

Discounts (e.g., 2% 10, net 30):

Gross method - sale/receivable is recorded at invoice price.  Discounts for payments received within the discount period are recorded at time of payment.  This is the easiest to administer.

Net method - sale/receivable is recorded at discounted amount.  If payment is not made within the discount period, accounts receivable is increased to invoice price and an account, sales discounts forfeited, is credited.  This method assumes that the discount is really a penalty for not paying promptly; that is, there are two prices -- the cash price and the credit (30-day) price.  (see Kieso, blue box, page 331)

Accounts receivable can be exchanged for cash by assignment.

Assignment (Pledging) Accounts Receivable

- is a borrowing type of arrangement where A/R is used as collateral or security for the loan.  By law in Canada (the Bank Act), companies with an operating line of credit must assign their receivables (and inventories if necessary) to the bank.

Types of assignment:

- General -- All accounts receivable serve as collateral.  New receivables can be substituted for the ones collected.

- Specific -- The assignee accepts only specific accounts.  The specific accounts 
 
     assigned should be transferred to a separate account, ‘accounts receivable 
 
     assigned’ 

Notes Receivable
- notes represent a formal promise to pay

- they bear an interest element because of the time value of money

- they are recorded at present value of future cash flows

Interest Bearing Notes
- have a stated rate of interest

- the face amount is the ‘principal’


Dr.
Note receivable



Cr.
(Asset or Revenue account)

Interest is accrued in the normal fashion

Non-Interest Bearing Notes
- interest is included as part of the face amount -- the interest is implicit

Refer to overhead --  solution presented below

Step 1.
Determine the amount of service revenue earned (the amount of the down payment plus the PV of the note receivable).


Down payment



$18,000.00


PV of annuity -- R = $18,000


n = 4; I = 11% -- interest factor is 3.10245


$18,000 X 3.10245 (PV of note)
  55,844.10

Service revenue earned 

$73,844.10

Step 2.
Determine the amount of the discount on the note.


(face amount of note - PV of note = discount on note)


$72,000 - 55,844.10 = 16,155.90


($18,000 X 4 = $72,000)

Step 3.
Record the transaction.

Dec.31/98
Cash



  
18,000.00


     
Notes receivable

  
72,000.00




Discount on note receivable

16,155.90




Service revenue


73,844.10

Step 4. Prepare a Schedule of Note Discount Amortization

	(1)

DATE
	(2)

PAYMENT
	(3)

EFFECTIVE

INTEREST  [11% X (7)]
	(4)

DISCOUNT AMORT. FOR YEAR

(3)
	(5)

BALANCE

UNAMORTDISCOUNT

(5) - (4)

Previous
	(6)

APPLY TO NOTE

(2) - (4)
	(7)

PV OF NOTE

(7) - (6) Previous

	Dec.31/98
	
	
	
	16,155.90
	
	55,844.10

	Dec.31/99
	18,000.00
	6,142.85
	6,142.85
	10,013.05
	11,857.15
	43,986.95

	Dec.31/00
	18,000.00
	4,838.56
	4,838.56
	  5,174.49
	13,161.44
	30,825.51

	Dec.31/01
	18,000.00
	3,390.81
	3,390.81
	  1,783.68
	14,609.19
	16,216.32

	Dec.31/02
	18,000.00
	1,783.68*
	1,783.68
	      --0--
	16,216.32
	     --0--


* rounded by $0.12

Step 5.
Annual entries to record the payments and amortization of the discount

Dec.31/99
Cash




18,000.00




Note receivable


18,000.00



Discount on note receivable

  6,142.85




Interest revenue


  6,142.85

Balance Sheet (December 31, 1999)

Note receivable 


$54,000.00   (72,000 - 18,000)

Less: Unamortized discount

  10,013.05   [see column (5) for 1999]






$43,986.95   [see column (7) for 1999]

Dec.31/00
Cash




18,000.00




Note receivable


18,000.00



Discount on note receivable

  4,838.56




Interest revenue


  4,838.56

Dec.31/01
Cash




18,000.00




Note receivable


18,000.00



Discount on note receivable

   3,390.81




Interest revenue


   3,390.81

etc.

When an Interest-bearing note has a stated interest rate that is unreasonable, an appropriate rate must be found in order to compute the PV of the note.  If the fair market value of the property or service exchanged for the note is not determinable, as above, use of an imputed interest rate is required.

SELF STUDY PROBLEMS

Multiple Choice Questions

1.
When the allowance method of recognizing bad debt expense is used, the entry to 
record 
the specific write-off of an uncollectible account would decrease


a. 
net accounts receivable


b.
allowance for doubtful accounts


c.
net income


d.
working capital


e.
none of the above

2.
When a specific customer's account receivable is written-off as uncollectible, what 
will be the effect on net income under the allowance method and direct write-off 
method of recognizing bad debt expense?



Allowance


Direct write-off

a.
none



decreased


b.
decreased


none


c.
decreased


decreased


d.
none



none


e.
none of the above

none of the above

3.
A company uses the allowance method to recognize uncollectible accounts expense.  What is the effect at the time of the 
collection of an account previously written off on each of the following accounts?



Allowance for



             Bad debts




uncollectible accounts



expense       

a.
No effect




Decrease


b.
Increase




Decrease


c.
Increase




No effect


d.
No effect




No effect


e.
None of the above

4.
A cash over and short account


a.
is not generally accepted


b.
is debited when the petty cash fund proves out over


c.
is debited when the petty cash fund proves our short


d.
is a contra account to cash


e.
none of the above

5.
The practice of realizing cash from trade receivables prior to their maturity dates 
is widespread.  A term which is not associated with this practice is


a.
assignment


b.
factoring


c.
collecting


d.
pledging


e.
none of the above

6.
If a company employs the gross method of recording accounts receivable from 
customers, then sales discounts taken should be


a.
reported as a deduction from sales in the income statement


b.
reported as an item of “other expense” in the income statement


c.
reported as a deduction from accounts receivable in determining the 


net realizable value of accounts receivable


d.
reported as sales discounts forfeited in the cost of goods sold section of 


the income statement


e.
none of the above

7.
Assuming that the ideal measure of short-term receivables in the balance sheet 
is the discounted value of the cash to be received in the future, failure to follow 
this practice usually does not make the balance sheet misleading because


a.
most short-term receivables are not interest-bearing


b.
the allowance for uncollectible accounts includes a discount element


c.
the amount of the discount is not material


d.
most receivables can be sold to a bank or factor


e.
none of the above

8.
If a petty cash fund is established in the amount of $200, and contains $120 in 
cash and $75 in receipts for disbursements when it is replenished, the journal 
entry to record replenishment should include credits to the following accounts


a
Petty cash, $75


b.
Petty cash, $80


c.
Cash, $75; Cash over and short, $5


d.
Cash, $80


e.
none of the above

9.
If the month-end bank statement shows a balance of $48,000, outstanding 
cheques are $18,000, a deposit of $4,000 was in transit at month end, and a 
cheque for $500 was erroneously charged by the bank against the account, the 
correct balance in the cash account at month end is


a.
$33,500


b.
$34,500


c.
$26,500


d.
$61,500

10.
If a company purchases merchandise on terms of 2/10, net 30, the cash 
discount available is equivalent to what effective annual rate of interest 
(assuming a 360-day year)?


a.
2%


b.
18%


c.
36%


d.
12%


e.
none of the above

SOLUTIONS TO SELF-STUDY PROBLEMS

Multiple Choice Questions

1. (b)
The entry is:


Dr. Allowance for doubtful accounts (contra-asset account)



Cr. Accounts receivable (asset account)


Since both the allowance and receivables accounts are reduced, the net 
receivables does not change.  Since net receivables does not change, working 
capital does not change.  The entry does not affect a revenue or expense 
account.  The account Allowance for Doubtful Accounts is reduced.

2.  (a)
The entries to write-off uncollectible accounts are as follows:


Allowance method


Dr. Allowance for doubtful accounts           [ No effect on net income ]



Cr. Accounts receivable


Direct method


Dr. Bad debts expense


         [ 
Reduces net income ]



Cr.  Accounts receivable

3.  (c)
The entries are:


Dr. Accounts receivable



Cr. Allowance for doubtful accounts


Dr. Cash



Cr. Accounts receivable


Therefore, the allowance account is increased and bad debts expense is not 
affected.

4.
1.  (c)
When the petty cash fund is short, Cash over and short is debited, a 


cheque is issued for the expense vouchers and the amount short to bring 


the imprest account back up to the proper level.  A cash overage has 


the opposite effect on the accounts.

5.  (c)

Factoring, assignment, and pledging all are used to realize cash from 


receivables prior to their due (maturity) dates.

6.  (a)

Whichever method is used, gross or net, discounts are deducted from 


sales to arrive at net sales.  This is not an other expense.



Regarding answer c, if the discount has been taken, the account has 


been paid and no longer is included in accounts receivable.



Regarding answer d, if the discount is taken, it has not been forfeited.

7.  (c)



8.  (d)

$120 + 75 = $195.  Petty cash is short $5.



The entry will be:



Various expenses

75



Cash over and short

  5




Cash



80

9.  (b)
Balance per bank

$48,000


Less: outstanding cheques        (18,000)


Add: deposit in-transit
    4,000


Add: cheque deducted



in error

       500


Corrected balance

$34,500

10.  (c)
If the company misses the discount date, it has an extra 20 days to pay the 

account.  The extra 20 days will cost 36% effective annual interest calculated as 
follows:


.02/20 days X 360 days = .36
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